
DU-CAP-0001-01 Rev A 5/17/11 GCX Corp. Page 1 of 2 

                                                            
          
     3875 Cypress Drive  Petaluma, CA 94954  800.228.2555  707.773.1100 Fax 707.773.1180  www.gcx.com 

 
 

Installation Guide 
 

Datacaptor Capsuletech Flush Wall Mount  
 
 
The purpose of this guide is to: 

 Describe mounting the Datacaptor Capsuletech Flush Wall Mount. 
 
 
 
 
 
 
 
 
 
 
 
 
 
Parts Reference 

The following parts are included in this installation kit : 
 

 

(Hardware not shown) 

 
 
 
 
 
 
Tools Required: 

 1/8” Hex Wrench (supplied) 

 Phillips Screwdriver 
 
 
 
 
 
 
 
 
 
 
 

Item # Description Qty 

1 Flush Wall Mount 1 

2 8/32 x 2 1/2 Pan Head Machine Screw (PHMS) 2 

3 2” Spacers 2 

4 #8 Flat Washers 2 

5 8-32 ESNA Nut 2 

3 1/8” Hex Wrench 1 



DU-CAP-0001-01 Rev A 5/17/11 GCX Corp. Page 2 of 2 

Installing Flush Wall Mount in Channel 

1. Guide the Slide (rear of Flush Mount) into top of Channel and move to desired location (below left). 
 
2. Using a 1/8” Hex wrench (provided), tighten set screw to secure position in Channel (below right). 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Installing Datacaptor Capsuletech into Flush Wall Mount 
 
1. Lower Datacaptor Capsuletech into Flush Wall Mount as shown (below left). 
 
2. Install the (2) 8-32 x 2 1/2" PHMS and (2) #8 Washers through the Datacaptor Capsuletech mounting holes and (2) 2” 

Spacers and thread into the Flush Wall Mount (below right). 
Installation Note: 8-32 Esna nuts (2) are provided and can be used on the 8-32 x 2 1/2" PHMS to cover any exposed 
thread. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Slide 

1/8” Hex Wrench 

Flush Mount 

Channel 

Set Screw 

1/8” 

2” Spacer 

#8 Flat Washer (2) 

8-32 x 2 1/2" PHMS (2) 


